AR DN —F2yT

=HH
Lk

EoHi

FR7EH

RIER (m) | fFkE (Fm3)

THIR

KFHEARI217-2

9.2

56

60

A

?,
\$
¢

P G
Y\

b

2
S
= _',9“.'
®
\

LR A L L L7 R UL T A Cz
L b

( @) iR it )
27 G '-3.:__.::'_:- = \”\"\‘\‘:\\&& \' /

| 500m% &< D IZHH B EFRH
(FiER)

R BABE - 6%
K BALEE - #8%

T

X5 7= $h iR ARE X i

FE5.0mllE
RE 2.0m~5.0mkH
FE 1.0m~2.0mKH
R & 0.5m~1.0m*KiE
FE 0.5mKi

KREEHEDER

2EDHTETOHNBIEE5.0m

EDEHTETOHNBIEE 2.0m

KADEFT2HSIEE 1.0m
AADREETOHSHEEO0.5m |

..... 151 mmmm= 155
----- 10 D% =mmmm 30 7
T XEERXIGE

ERERXE FEBIE A X 15

(G2 ) ; (RIERHE O FAIR)
X B X

G =) (RIERB O FAEE)

R HMLIS DRKIEE X5 E

R 7 DAL 0RKIEE Xz
ANREHER

B K B 1R R

¥ T B R T
HEOBRIEN B BB LLF 0N L
DRCRNAB R A —R ) SRS €
BEHOMEH.

&= EHER(ER)

BELZOBBEFMERLTVET, KRS
NTVBLUNDEFRTKEENRET 5 HE
EAHVETOTHIERLTIEZIL,

bOHERDBH K AE

DA ROEEHEFT

DIROERIGR

BEFOEEES

61



